Algebra 2 Chapter 9 Review Worksheet Assignment #__

Name KC - Date Period
U
1. Inaright triangle, 6 is an acute angle and cosé = % Evaluate sinB and tan®.

. V556
SInB-= ’%’“ , tan o= /J‘%

2. The shadow of a tree measures 25 feet from its base. The angle of elevation to the sun is 31°. How
tall is the tree? Draw and label a right triangle to represent the problem. Round your answer to the
nearest foot.

5 H

#3-4: Draw the following angles in standard position. Inc (ude otvrow )

3. 462° :; 4. =311° #

5.  Find one positive angle and one negative angle that are coterminal with 382°.

Possible answers » -238° and  742° (227 alse ok fov posiive

A n.Su)c/)
#6-9: Convert the degree measure to radians or the radian measure to degrees.
6. 30° 7. —-225° 8. —§4£ ’ 9. —5—375
- _ BIT
(o It - 135 300°
#10-13: Find the reference angle 6’ for the given angles.
10. 92° 11. -307° 12. 215° 13. %’L
o8’ 53" 55° i
b
#14-15: Given a point on the terminal side of angle 6 in standard position, find sin®, cos® and tan®.
14. (24,-7) 15. (=2, 9)
~Z et
sine=_ 25 sing=__ 20
24 1)
cos@=__ 25 cos = (0
7—

tand= 244 tan® =



#16-19: Evaluate the function without using a calculator. Write your answer as an exact value.

11
16. sin 330° 17. cos (—405°) 18. sinL3£ 19. '(an—ﬂ~
3
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#20-21: Fill in the blanks and graph the function. Show the five key points for each period.
20. y=cos(x+m)+2 : g
Amplitude: ‘ I — i . e St
Period: _ 217 Boptl i b St e e
e S e S AL S s e S e ML A S AN AL S
Phase shiftt T left .|
Vertical shift: _Z wp
21, f(x) =—3sin2(x-—%)
Amplitude: > /\ 7\ .+ 1\
Period: Tr f": = et —:+ +—t + PP ~unam
Phase shift: & rignt v
Vertical shift: _“one& B T [ - T -

#22-23: Write a function for each sinusoid. There are otvier coyvect answerc .
22.

aﬁ COSTT X —

24. You put a reflector on a spoke of your bicycle wheel. The highest point of the reflector is 25 inches
above the ground, and the lowest point is 2 inches above the ground. The reflector makes one
revolution per second. Write a model for the height 4 (in inches) of the reflector as a function of time ¢
(in seconds) given that the reflector is at its lowest point when ¢ = 0.

h= —11.5 s 21Tt « (3.5

#25-26: Use the Pythagorean Identity and Tangent Identity to find the other two trig values.

25. cos6’=1—%, —3—7£<9<27z' 26. tar'10=2, 0<0<Z
137 2 4

SN0 = _ 5 - 7= C/QSQ‘z_L/F— \Vl ’;“3"
3 /a\ﬂn@ 5, S\WE 5



